Cluster 8
Score = 75%

Noise

STEP 1 Eps = 0.00185696 Score = 31.25%

Cluster 8
Score = 75%

Noise

STEP 2 Eps = 0.0020434 Score = 31.25%

Cluster 8
Score = 75%

Cluster 13

STEP 3 Eps = 0.00230222 Score = 50%

Cluster 8
Score = 75%

Cluster 13

STEP 4 Eps = 0.0032067 Score — 50%

Cluster 8
Score = 75%

Cluster 13
Score = 50%

STEP 5 Eps = 0.0032843

STEP 6 Eps = 0.00395902

STEP 7 Eps = 0.00469895

Cluster 9
Score = 50%

Cluster 10
Score = 37.5%

Cluster 12
Score = 37.5%

Cluster 9
Score = 87.5%

Cluster 12
Score = 37.5%

Cluster 9
Score = 87.5%

Cluster 11
Score = 75%

Noise
Score = 25%

Noise
Score = 25%

Cluster 11
Score = 87.5%

Noise
Score = 25%

Cluster 11
Score = 87.5%

Cluster 11
Score = 87.5%

Cluster 11
Score = 37.5%

Cluster 11
Score = 37.5%

Cluster 2
Score = 100%




